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POST-GRADUATE COURSE
Term End Examination — December, 2011

PUBLIC ADMINISTRATION
Paper - V
Time : 4 Hours Full Marks : 100
( Weightage of Marks : 80% )
Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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( English Version )

1.  Answer any two of the following : 18 x 2 =36
(a) Explain the phases in the making of public
policy process.
(b) Identify the elements of political economy in
public choice theory.
(c) Write an essay on the role of non-
institutional actors in public policy.
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(d) Explain the scope of Public Policy as a
subfield of the discipline of Public
Administration.

Answer any three of the following : 12 x 3 =36

(@) Discuss Herbert Simon's decision-making
process.

(b) Examine the role of bureaucracy in the
public policy process.

(c) Examine the role of civil society in
implementing and evaluating public policy.

(d) Describe the role of a legislator in the
public policy process.

() Write an essay on the democratic
governance in India.

4] Explain Yehezkel Dror's theory of public
policy.

Answer any four of the following : 7 x4 =28

(@) What is meant by 'bounded rationality’ ?

(b) What is Etzioni's 'Mixed Scanning' model ?

(c) Write a note on redistributive public policy.

(d) What is known as "Top-Down' model ?

() Name the five steps in the policy making
process.
() What does Herbert Simon mean by

'satisficing' ?
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What is meant by policy implementation ?
Write a short note on the limitations of
‘comprehensive rationality’ in  policy-
making.

Discuss in brief the role of parliamentary
committees in the framing of public policy.

How does media determine public policy ?
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